Holding to the required
course

By Eric Heyer

This text summarizes the OFCE’'s 2013-2014 forecasts for the
French economy.

In 2013, the French economy should see negative annual average
growth, with a fall in GDP of 0.2%, before a modest recovery
in 2014, with growth of 0.6 % (Table 1). This particularly
mediocre performance is far from the path that an economy
pulling out of a crisis should be taking.

Table 1. Summary of the forecast for 2013 and 2014

In %, annual average

2010 2011 2012 2013 2014

Taux de crolssance du PIB 1.6 1.7 0,0 0,2 0.6
Imports 84 52 -0,3 0,1 1.7
Household consumption 1.4 0,2 0,1 0,0 0,8
Government consumption 1.7 0,2 1.4 1,2 0,2
Total investment 1,0 3,5 0,0 -1,9 0.5
Exports 9,2 5,5 25 0.9 2.2

Contribution to growth
Domestic demand excl. inventory 1,5 0,9 0,3 0,1 0.5
Change in inventory 0,0 0.8 -1,0 0,3 0,0
Trade balance 0,0 0,0 0,7 0,2 0,1
GDP growth rate, eurc zone 2,0 1.1 0.5 0.4 0.9
Other indicators
Inflaticn (consumption deflator) 1,1 2,1 1,9 1,6 1,6
Savings rate (% of GDI) 159 16,2 16,0 15,6 15,2
Unemployment rate 9,3 9,2 9.9 10,7 11,4
Public deficit (GDP points) 7,1 52 4.8 3.9 3,0
Public debt (GDP points) 82,4 85,8 90,2 93,3 04.8
GDP growth rate (year-on-year) 18 1,1 -0.3 0,3 07

Sowrces : INSEE, quarterdy accounts; OFCE e-mod.fr forecast for 201 3 and 2014,

Four years after the start of the crisis, the French economy
has a substantial potential for recovery: this should have led
to average spontaneous growth of about 2.6% per year in 2013
and 2014, making up some of the output gap accumulated since
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the onset of the crisis. But this spontaneous recovery 1is
being hampered mainly by the introduction of fiscal savings
plans in France and across Europe. To meet its commitment to
cut the public deficit to 3% by 2014, the French government
will have to hold to the course of fiscal consolidation it
adopted in 2010, which was imposed by the European Commission
in all the euro zone countries. This budget strategy should
slash 2.6 percentage points off GDP growth in France in 2013
and 2.0 percentage points off GDP in 2014 (Table 2).

Table 2. The obstacles to growth in France during the years 2013 and 2014

In GDP points
1 N - S ™ =2 S
GDP growth -0,2 0,6
Impact on GDP due to -
... oll changes -0,2 0,0
Direct impact on the French economy 0,1 0.0
Impact via addressed demand 0,0 0.0
... austerity measures -2,6 -2,0
Direct impact on the French economy -1,8 -1,4
Impact via addressed demand -0.8 -0,6
... monetary conditions Q0,0 0,0
Direct impact on the French economy 0,0 0.0
Impact via addressed demand 0,0 0.0
... policies on competition a,1 -0,1
Direct impact on the French economy 0,2 0,0
Impact via addressed demand -0,1 -0,1
Achlevement -0,2 0,1
Spontaneous growth rate ' 2.6 2.6

Sources : INSEE, OFCE calculations.

By setting a pace far from its potential, the expected growth
will aggravate the output gap built up since 2008, with the
labour market thus continuing to worsen. The unemployment rate
will rise steadily to 11.6% in late 2014.

Only a shift in European fiscal strategy could halt the rise
in unemployment. This would mean limiting the negative fiscal
stimulus to 0.5 percent of GDP instead of the total of 1.0
points planned in the euro zone in 2014. This reduced fiscal
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effort could be repeated until the public deficit or debt
reaches a defined goal. Compared to current plans, because the
effort would be measured the burden of adjustment would be
spread more fairly over the taxpayers in each country,
avoiding the pitfall of drastic cuts in the public budgets.
This new strategy would lead to a slower reduction in the
public deficit (-3.4% in 2014 against -3.0% in our central
scenario), but also and especially to higher economic growth
(1.6% against 0.6%). This “less austerity” scenario would
allow the French economy to create 119,000 jobs in 2014, i.e.
232,000 more than in our central forecast, and unemployment
would fall instead of continuing to increase.



